Anti-Theft Weatherproof
Tilt TV Wall Mount

TV-WPTTM
INSTRUCTION - MANUAL

M-A (x4) M-B (x4) M-C (x4) W-A (x6)
M5x14 M6x14 M6x30 ST6.3x60
- ey Sroem,
oD (D 0T =
= M-D (x4) M-E (x4) M-F (x4) W-B (x6)
B (x1) M8x30 M8x50 D6 @10x45
ﬂ © 0O )
c (M M-(IiD §x4) M-H (x8) M-I (x8) W-C (x6)

INSTALLATION:

VESA Compatible
200x200 300x200 300x300
400x200 400x300 400x400

600x400

S N A4

1 1 Setting up Wall Mount Bracket

1 2 Setting up Wall Mount Bracket
on Dry Wall "

on Solid Wall

65mm %
60mm (2.6")
(2.4 ]
T
% 4mm 2 10mm
@ 5/327, (23/8"
i 1

1.1A : identify the wall studs and locate where you want to piace your mount. Place the wall bracket (A)
on the walil and with a level (not included), mark off the location of the drill points as illustrated above. Key
point is to align any of the holes to the spacing of the studs. Afterwards use a powerdrill (not inciuded)
with a 2.4” length and a 5/32” diameter drill bit, and drili where was marked.

1.2A : Place the wall bracket (A) on the desired iocation on the wall and with a fevel (not
included), mark off the location of the drill points as iliustrated above. Afterwards use a
powerdrilf (not inciuded) with a 2.6” length and a 3/8” diameter drill bit, and drili where
was marked.

1.1B : While holding the wall bracket (A) , align the 4 washers and screws (W-C, W-A) to the pre-drilied
holes. Using a socket wrech tool (Not included), rotate in the screws until securely tightened.

1.2B : Place the anchors (W-B) into the wall, and then align the 4 washers and screws
(W-C, W-A) to the pre-drilled holes. Using a socket wrech tool (Not included), rotate in

T
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
} the screws untif securely tightened.
|

Q 36 Taaffe Place Brooklyn, NY 11205 B4 support@ctadigital.com (‘ 888-733-4448 @ www.ctadigital.com



Attaching
Vertical Brackets L
to Back of TV

**TV is illustrated for example
purposes and not included

2A : Identify the VESA holes on the back of the TV(Not included). Align the vertical bracket
(D,E) as shown to the VESA holes. Using a screwdriver (not included), rotate in 1 out of the
3 combinations of screws, washers and screw ends as illustrated in the call out box below.
Each combination has different screw diameter and lengths and really depends on the TV
that's being attach. Test out different screws and find the combination set that works for you.
Make sure to rotate the screws until securely tightened.

Vegwl
X T %

Too long  Too Short

Mounting TV
to Wall Brackets

3A : Pick up the attached vertical brackets to
the TV, and fatch onto the wall bracket as
iflustrated. -

**TV is illustrated
for example
purposes and
not included

Inserting Anti-Theft Security Bar

E **TV is illustrated for example @

o purposes and not inciuded A

: :

o a

o 2

o d(°0

o = — © — — 4 H|

% *

0 0

0 0 B

g [ (0] D O CED ts gJ

0 © 710 D
ﬂ ) -

/' 4A: Slide in the linear anti-theft security piece (B) as illustrated
~ e above. insert a small Jock or pad-lock as shown to the left to jock in
T piace. (lock not inciuded)

Adjustability

T

5mm

**TV is illustrated for
example purposes and
not inciuded

5B : After adjustments are made, use the
provided allen key toof to tighten the bolt on
the point where the vertical brackets meet the
horizontal bracket as iflustrated above to
tighten and set your preferred viewing angles
and orientation.

-
|

|

|

|

|

|

|

|
} itlustrated.
|

|

|

|

|

|

|

|

L

**TV is illustrated for example
purposes and not included

5A : Adjust your TV horizontal angles by tilting left and right as

5B : Adjust your TV vertical angles by tilting up and down
as iflustrated.

9 36 Taaffe Place Brooklyn, NY 11205

B4 support@ctadigital.com

p
\‘ 888-733-4448 @ www.ctadigital.com



